
©m J2k0n2I0A jK^uvtEaV iSzozfHttwSaarUeJ dLaL_C_.p c NA^lula LrGi`gThHtesx mrPe\sne\rdvjeYdE.t x BMlaMdoeX XwuiVtchg \IcnGfMiUnkiRtIe` TAHlWgSeUbVr`ab E1K.

Worksheet by Kuta Software LLC

Math 1

PRACTICE Quiz 4.1 - 4.2 Zero and negative and multiplying exponents

Name___________________________________
©E l2p0C2d0k _KbuIt]aU BScobfetYwlaUrGeK `LZLqCN.Z ^ iALlqlD mrZirgjhotpsY OrkeJsvesrmvZejdi.

Simplify.  Your answer should contain only positive exponents.

1)  -3x-1 2)  -2x-1

3)  
2

-4x-3y-1
4)  

1

-3x3y-2

5)  -2x-4z-2 6)  4xy-1z-3

7)  3aa6 8)  -5x-5
 × -5x-4

9)  -6b4
 × -5b3 10)  6x5y-6

 × 4yx-6

11)  5b-1c5
 × 6a4b6c-1

 × 5a-4b4c-4 12)  3x-2z2
 × -6x6y-3z6

 × -x4



©i r2H0j2p0g QKxuEtjam _SdoRfctYwtaSrTer hLwLUCd.t F PAul^l\ Sr_ipg`h_tKsw hrneoswezr]vLehdz.t i _Mlatd^eu fwMi]tZhJ vI]nwfQiNnXiHtVeV bAKlbgVeYb]rRaA d1G.
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PRACTICE Quiz 4.1 - 4.2 Zero and negative and multiplying exponents

Name___________________________________
©J c2f0m2b0H IKVuVtiaG uSJovfktxwSaRrYeo LLYLACg.C E uAjlqlC yr_iAgRhctnsi wrSe\sDeQrUvpejdf.

Simplify.  Your answer should contain only positive exponents.

1)  -3x-1

-
3

x

2)  -2x-1

-
2

x

3)  
2

-4x-3y-1

-
x3y
2

4)  
1

-3x3y-2

-
y2

3x3

5)  -2x-4z-2

-
2

x4z2

6)  4xy-1z-3

4x
yz3

7)  3aa6

3a7

8)  -5x-5
 × -5x-4

25

x9

9)  -6b4
 × -5b3

30b7

10)  6x5y-6
 × 4yx-6

24

y5x

11)  5b-1c5
 × 6a4b6c-1

 × 5a-4b4c-4

150b9

12)  3x-2z2
 × -6x6y-3z6

 × -x4

18z8x8

y3


